0001913186808999

&0 LimERHEAY 0—e—o

2012 47 3 B 25 2 [

21U={n|nix15»5 100 ZETOAKE } 2 2REEL LT, TOHIEEE

A={n|nix 20K}
B=1{n|nix 305K} _ O)j

0 e
9%, 20X AUBIEY 2 EHEOMEIL THY, ANBIZRY 2 EHEO U THD.

=Y &Y. —U - —
n(AUB) = h(A)+ﬂ(B)~n;AinB) ; ///
YD ESTINNYSEHES
A={ z,4,6,~, 100} &Y. L AVB

J
n(pA)= ko
B:Pthw~,%}:9 <>O=’C)+<>~ O

33

r

n(g)
ANB =f6,12, 18, , 96F &)
S n(ANB) = 1
- h(AUB) = 5D +33-16
= 6"

v /%mgr:g.tmlz
NiEiLEY o FER &Y. ANB = AUB T HphIE F

n(AUB)

I

- n(ans)

n(U) —n(AURB)

n

(00 -561

n

1

33

P/




